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P g SR
ESR S TR = 1 =i Q1 IV NI )
By 3% 4 Fn044£09 H 26 H eI Dt e/ 81 kv (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]

X R AbE 10. 00 | #H%F 164 1, 640 1, 669
IENE b 10. 00| AHxf 220 2,200 2,484 2,332| 1,944
HOR w5 5. 00| FHxf 88 440| 4,860| 4,273| 1,944
H ¥ E ¥ 15. 00| AHxf 508 7,620 1,998 1,463 756
ERSEaNe) FiE 10. 00 | ¥ 600 6,000 1,242 889 594
ESF AWII--N E % 4. 00 | FHxF 59 236| 4,968| 4,577| 3,996
H & 5O 3. 00| FHxf 25 751 1,782 1,494 1,318
H A el 1. 00 | #H % 140 140 1, 296 1,034 432
ENIEE so0l fxt| 6] 30| 3,240 2,790 2,160
AN w5 5. 00| FHxf 25 125| 2,484| 2,000 1,296
= m | 0.40|#A%t| 1,200 480 162 41| 108
= %% 4. 00 | FHxF 225 900 2,592 2,196| 1,512
[N =% 5. 00| FHxf 502 2,510 2,160 1,751 1,188
v—< = 0. 15| FHx} 4, 080 613 76 69 59
I AbiEiE 10. 00| AHxf 10 100| 1,080 972 540
_XF b= b eifEE 3. 00| FH*} 576 1,728 2,916| 2,747 1, 944

ot b 0. 10| FH%f 80 8 194
= o | 2 oof tA%f | o] 20| 1,080  s21| 432
H 7% w5 5. 00 [ #H %} 12 60| 1,944| 1,782| 1,404
A= 4 AbiEiE 10. 00 [ #H % 680 6,800 2,160| 1,199 756
B =% 10. 00| AHxf 230 2,300 3,240 2,306| 2,160
S5 - AbiEiE 20. 00 | #H 5%t 45 900 2,700 2,340| 2,160
(= | 10,00 Mxt|  s23] 5,230 2,592 2,426 1,728
LA A E ¥ 10. 00| FA % 1, 596 15,960 2,052 1,475 1,415
P=—LF R E % 4. 00 | FHxF 675 2,700 1,728 1,199 648
Tayal— E % 4. 00 | FHxF 80 3201 2,916 2,654 2,160
AMEE (i 0. 10| FA%f 1, 300 130 151 96 65

LU E % 0. 20 | FH%f 300 60 86




1D:1210 P- 2
P g SR
ESR S TR = 1 =i Q1 IV NI )
Rz A Fn044-09 H 26 H eI Dt e/ 29 kv (Biir)
i 4 JE = Wae | %K F i fiE T fE g2y ]

RS i Fosk L 10. 00 | #H%F 440 4,400| 4,104 3,067| 1,728
Bk f& B 10. 00 | #H%f 50 500 3,780 3,499 3,024
& 1l | 1000 FERE| 437] 4,370| 3,780 3,150 2 160

PE o 5. 00| FHxf 190 950| 4,320| 3,421| 1,944
Elg E % 0. 35| FHx} 180 63 562 552 540
v A —x [T 2. 00 [ FH %} 40 80| 1,944 1,863| 1,620
AR Ak L 0. 30 [ #Hx%} 1,070 321 302 293 259
Ed = IE 10. 00| FA % 44 440( 10,800| 9,941 8,640
Avava 7 4 U E | 13.00| fH%F 19 247\ 2,484 2,410 2,376




